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4 marks. For each incorrect response, one mark will be
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particulars on this page/marking responses.

Rough work is to be done on the space provided for this
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forg W ST et 1 a WIS WA (rms)
oA gl o IYATSA ¥ TARH L TR h T AH
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(e T 2

SIS o 3T T WM (m) = 2:76 x 10726 kg
diegs e ky = 1-38 x 10723 J K1)

(1) 2508 x10*K

(2) 5016x10*K

(3) 8360x10*K

4) 1254x10*K

foret ThTRHTU A| % STRIAA (V) ® A9 (T) & @
fomror o6 H gWiC SgER BT ® | AeEEAl A H
JTEET B 7 S <t Ufsha # 19 g fohu 7w Rt 31
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@ %
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A o TR I FGLATH o Sie HRILG fohel 3Test
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(1) 268%

(2) 625%

3 20%

4) 125%

ot gt AT 9T W gA A TRl S5 A
IS W g OmERd (ST S AghT % wEE R
IfE Fwg 3T IEY I TS 20 cm 7, A Go AT
uTgy hH T Ff

(1) 13-2cm
(2) 12-5cm
(3) 8cm
(4) 16 cm

At what temperature will the rms speed of
oxygen molecules become just sufficient for
escaping from the Earth’s atmosphere ?

(Given :
Mass of oxygen molecule (m) = 2:76 x 10726 kg

Boltzmann’s constant kg = 1-38 x 1023 g K_l)
(1) 2-508x10*K
(2) 5016x10*K
(3) 8360x10*K
(4) 1254x10*K

The volume (V) of a monatomic gas varies with
its temperature (T), as shown in the graph. The
ratio of work done by the gas, to the heat
absorbed by it, when it undergoes a change from
state A to state B, is

\Y%

T

o

ﬁT

(1

(2)

6))

N N0 Wi Wi ol b

(4)

The efficiency of an ideal heat engine working
between the freezing point and boiling point of
water, is

(1) 26:8%

(2) 6:25%

3 20%

4) 12:5%

The fundamental frequency in an open organ
pipe is equal to the third harmonic of a closed
organ pipe. If the length of the closed organ pipe
is 20 cm, the length of the open organ pipe is

1) 132cm

(2) 12-5cm
3) 8cm
(4) 16 cm
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0-5 kg m™! ¥fd 31 Trams geome i foelt g <t
afast T8 + T faeh a9 W S afew | 30°
T IV ST 7, T T 2 | 36 B I 360 e
€T JaTed hieht e Hlehd 8l a1 ST e 36 W
0-25 T ST %1 Frehid &7 Heatar foem § sl =t @
2 | D8 I for we & fou sed yenfga a2

1) 714A
(2) 1476 A
(3) 598A
(4) 11-32A

20 mH %1 s Ik, 100 pF 1 hI GRS q5T 50 Q
1 ®1g Tfqliesh, fa.a1. s (emf), V = 10 sin 314 t
& forelt &iq @ Jvft o wafoa & | 3@ ufy ° wifd
DR

1) 079W
(2 274W
(3) 043 W
4 113W

forelt ot pselt freammnfier it g gnfear 5 div/mA
R Aiced! GUTiedl (SF 33 alced 8 Icad Hiv
fag) 20 div/V 2 | 38 freamrdiet 1 gfadig B

(1) 40Q

(2) 250Q

3) 25Q

(4) 500Q

e g % gai % o shgredE g2 $

TS Udcl B HeAtR foud 7 | 99 foga-gras § g
YaTed i Al 3, q1 98 B¢ &fas grahid &9 § e
FW A AR gohdl € I B | 39 THR Ig B Tocd
feufes oot uea Rt B | THT R % fotu StrawEe
e T B

1) foga @@
(2) 3% % Uard hl JTAh T

(3) TrahE &
(4) i@ fo@-a < & ufiedt grhim &9 @ 3=
a1 3

A metallic rod of mass per unit length
0-5 kg m! s lying horizontally on a smooth
inclined plane which makes an angle of 30° with
the horizontal. The rod is not allowed to slide
down by flowing a current through it when a
magnetic field of induction 0-25 T is acting on it
in the vertical direction. The current flowing in
the rod to keep it stationary is

(1) 714A
(2) 1476 A
(3) 598A
(4 11-32A

An inductor 20 mH, a capacitor 100 uF and a
resistor 50 Q are connected in series across a
source of emf, V = 10 sin 314 t. The power loss in
the circuit is

(1) 079W
(2) 2714 W
3) 043 W
4 113W

Current sensitivity of a moving coil galvanometer
is 5 div/mA and its voltage sensitivity (angular
deflection per unit voltage applied) is 20 div/V.
The resistance of the galvanometer is

(1) 40Q

(2) 250Q
3 25Q
(4) 500Q

A thin diamagnetic rod is placed vertically
between the poles of an electromagnet. When the
current in the electromagnet is switched on, then
the diamagnetic rod is pushed up, out of the
horizontal magnetic field. Hence the rod gains
gravitational potential energy. The work
required to do this comes from

(1) the current source

(2) the lattice structure of the material of the
rod

(3) the magnetic field

(4) the induced electric field due to the
changing magnetic field
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9. fiu m ufwy smw #, fEw dwed V) 20V,

VBEZOHQHVCE:()%l IB,IcﬁTB%maﬁ

(1)
(2)
(3)
(4)

10.

20V

Ip =40 uA, Ig =10 mA, =250

Ip =20 uA, I =5mA, B =250
Ip =25 uA, I =5mA, B =200

Iy =40 uA, Io=5mA, B=125

o ¥ feu 7 71ei & wAem | frfa Y 1 fawn A ek

B 9SG H 39 YhR ¥ad fehal ST Hehdl &

Ae

Be

(1)
(2)

(3)
(4)

r > y
=

- o2
W ™ ws]
+ o+
> P

11. T p-n @fY sEte ¥ T g9 @ au | gfEdd

(1)
(2)
3
(4)

shaet ooy (Fad) uferier bt wemfara ot 2 |
p-n G & fale st gwifad 78 ot 2 |
el 7 TfqUy sl IHTferd ohiar ® |

p-n G &% TEY V — I RIAeqor i quriaad i
g1

9.

10.

11.

In the circuit shown in the figure, the input
voltage V; is 20 V, Vg = 0 and Vg = 0. The

1

values of I, Iy and B are given by
20V

(D
(2)
6))
4)

Ip =40 A, I =10 mA, B =250

Ig =20 pA, Ig=5mA, B =250
IB=25MA,

I =40 uA,

I =5mA, =200

Ic=5mA, p=125

In the combination of the following gates the

output Y can be written in terms of inputs A and

B as

Ae C

Be [ > Y
>

(1) A.B

(2 A.B+A.B

3 A.B+A.B

4 A+B

In a p-n junction diode, change in temperature
due to heating

(D
(2)
3
4)

affects only reverse resistance
does not affect resistance of p-n junction
affects only forward resistance

affects the overall V — I characteristics of
p-n junction
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12,

13.

14.

AUFAR AT gere % fRHl TEAd g WIS
agfad YehTr a1y ¥ AAd war 7 | feRet faw
YA IV 4 R A T T foh wwmafda feRtol i
sqafia fRu Th-gEt % aFed § | FefaRed | @
Hi-a1 fashey o feufa & adt 8 2

(1) wafdd v gfad 8 3 gae fogq afew
YA % I o GHI B

(2) i=sin! (EJ
1

(3) wWafdd Yehm gfod g R 3@ fogq Afew

JATYH o et o oIead 8

(4) i=tan! (lJ
u

I < fgfert wam o, forfei & &9 gohd d, 2 mm 2
aon forft & 9 1 g D FT 100 em T gW qwRHA
A = 5896 A % JehIY T IUANT foram T B | T® URN
o1 fom Thatt <t sivfi =St 0-20° 7 | 99 (3781 A 3R
D % forw) fibsti <t =hiviia =SS &1 age 0-21° &

% for frfet & i = gk &1 &G &
() 18 mm
(2) 21mm
3) 19mm
4) 17mm

forelt Tl SToad glaeis &l U TEe sTfae
3 oy farsie 3= gim, afe saeh stfirgyees o i
(1) I8 gl %4 3 = o1 2

(2) E gl IAfH 3R =™ 521 7

(3) THIHH gl AR 3T AE DI 2

(4) HE g F 3R ™ DIl @

12,

13.

14.

Unpolarised light is incident from air on a plane
surface of a material of refractive index ‘W. At a
particular angle of incidence 7, it is found that
the reflected

perpendicular to each other.

and refracted rays are
Which of the

following options is correct for this situation ?

(1) Reflected light is polarised with its electric

vector parallel to the plane of incidence

(2) i=sin! (1]
1)

(3) Reflected light is polarised with its electric
vector perpendicular to the plane of
incidence

(4) i=tan! (1J
1)

In Young’s double slit experiment the separation
d between the slits is 2 mm, the wavelength A of
the light used is 5896 A and distance D between
the screen and slits is 100 cm. It is found that the
angular width of the fringes is 0-20°. To increase
the fringe angular width to 0-21° (with same A
and D) the separation between the slits needs to

be changed to

(1) 1-8mm
(2) 2:1mm
3) 19mm
(4) 1'7mm

An astronomical refracting telescope will have
large angular magnification and high angular

resolution, when it has an objective lens of
(1) small focal length and large diameter
(2) large focal length and large diameter
(8) large focal length and small diameter

(4) small focal length and small diameter
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15.

16.

17.

18.

AR ATV = Vol (Vg > 0) 3R ZH m
w1 W W B BEReT B - - By |
(B = e > 0) H t = 0 T Yoz a1 2 | Al Joew
# 30 goidgH hI ISl almeed 4y B, @ §WE ¢ W
FahT sl st Bt

Ao

(1 + elo t}
mVO

@ Mgt

(D

3) 2 (1+ e tJ

IIIVO

@

foret Meanfea werdl 1 srd-aryg 10 fie § | =fe
IRy § ARl T @A 600 7, A1 450 TR &
fqafea a9 # oM aren ww (e #) &

(1) 20

(2) 30

(3) 10

4) 15

BIgSioM TATY] i fopelt s whenm # fonet g <Al
TTferst St IR IEEHT el oIl bl AT Bl B

1 1:1
2 2:-1
3 1:-1
4) 1:-2

Se fRel u1g % I8 W AEN 2v, (I v, gl
IR B) T TR I HIAT &, Al Iedfoid gerag it
1 AfUhad 9 v, 7 | F9 Ufaa fafrwr it g
FEH by, H G I @, Al I Y8 H Iedrd
WWﬁwaﬂvzﬁﬁT%IVIﬁTvzaﬂ
ST B

1 1:2
2 4:1
3) 1:4
4) 2:1

15.

16.

17.

18.

An electron of mass m with an initial velocity
V VO 1
E =— Eol (Ep = constant > 0) at t = 0. If A is

(Vo > 0) enters an electric field
its de-Broglie wavelength initially, then its
de-Broglie wavelength at time t is
I
[1+ eEo tJ

mV,

@) At

(D

(3) 1 (1+ el tj

mVo

@ A

half-life is
10 minutes. If initially there are 600 number of

For a radioactive material,

nuclei, the time taken (in minutes) for the

disintegration of 450 nuclei is

(1) 20

(2) 30

3) 10

4 15

The ratio of kinetic energy to the total energy of

an electron in a Bohr orbit of the hydrogen atom,
is

1) 1:1
2 2:-1
3 1:-1
4) 1:-2

When the light of frequency 2v, (where v, is
threshold frequency), is incident on a metal
plate, the maximum velocity of electrons emitted
is vy. When the frequency of the incident
radiation is increased to 5v;, the maximum
velocity of electrons emitted from the same plate

is vo. The ratio of v{ to vy is

1 1:2
2 4:1
3 1:4
“4) 2:1
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19.

20.

21.

22,

aﬁéﬁmwcmqﬁwaﬁ%%{ﬁwﬁwﬁ
40 cm g W feuq 7 | FfQ 38 forwy w61 guwr o e o
20 cm TIAFARG X fean S, @ gfafe feadt gl
T forenfya g smem 2
(1) 30 cm ST & T
(2) 30 cm TYU1 % I
(3) 360m'q’ﬁ'UTﬁa;{
(4) 36 cm TYUI % I

foreht 5w & wered o1 sruadiw V2 R fism 1
30° 2 | fr5w & @ omad® Tsel H H wh &l Al
et it 1 AT I A T 2 | G HAE d
TOST T AT ThaT JeRTeT W1 his G (U1 ATl I8
T WEfdd g % 9vErq) 36 99 W 99 e ST,
afe firsn W STT9a 1o 1 A= B

(1) 60°

(2) 30°

(3) 45°

(4) IA

Fé e g w1 PRt mem A A V < Vi @
T W@ g | TR e 5w foeq-grsh qin W
fogq-aa QoM +y W b W B | d9 W

Terggq-reeha Tl o Yraehig & gre i fewm Bl
(1) -zfem
(2) —yfeam
(3) +zfeam
(4) —xfem

forHt Tt T 60 mA T gWT JaTed HHE W 3G Wb 4
Tfua graha feufast ot &1 7 25 mJ 2 | 39 I
T YTehed B

(1) 0138H
(2) 1-389H
(3) 13888 H
(4) 13-89H

19.

20.

21.

22,

An object is placed at a distance of 40 cm from a
concave mirror of focal length 15 cm. If the object
is displaced through a distance of 20 cm towards
the mirror, the displacement of the image will be
(1) 30 cm away from the mirror

(2) 30 cm towards the mirror

(3) 36 cm away from the mirror

(4) 36 cm towards the mirror

The refractive index of the material of a prism is
V2 and the angle of the prism is 30°. One of the
two refracting surfaces of the prism is made a
mirror inwards, by silver coating. A beam of
monochromatic light entering the prism from the
other face will retrace its path (after reflection
from the silvered surface) if its angle of incidence

on the prism is

(1) 60°
(2) 30°
(3) 45°
(4) zero

An em wave is propagating in a medium with a
velocity ;}/’ = V,i\ . The instantaneous oscillating
electric field of this em wave is along +y axis.
Then the direction of oscillating magnetic field of
the em wave will be along

(1) - zdirection

(2) -y direction

(3) + z direction

(4) —xdirection

The magnetic potential energy stored in a certain
inductor is 25 md, when the current in the

inductor is 60 mA. This inductor is of inductance

(1) 0-138H
(2) 1389H
(3) 13888 H
(4) 13-89H
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23.

24.

25.

aﬁéézﬁaﬁﬁﬁsssrﬁﬁa‘r’mé,évﬁwﬁwﬁa, ‘n’
HdEH Tl (B n UiEdi 8) S R | 9 &
et 1 gueE sk g 1 A R | fe
HIF-G1 U1 [ 37 n o = & Tee hl gAr 8 ?

I .
@ 1
O —»n
I
@ 1 /
O —n

I

(3) T i
6) —n
I

(4) f i

O —n

‘0’ gIaq Yfigehi o ag=d, SO g a1 gfag
R B, oofshn § fa.ar.sd (emf), ‘B’ 3N 3n=aftsw
ufg, ‘R’ & foret et & S B | 9 @ & T8
g I 8 | 319 39 ‘n’ JfaUeehi 1 Uwd hA 0 3H Sl
g frn S 1A S a A am 10 I &
STt B | ‘n’ T AE R

(1) 10
(2) 20
3 11
4) 9

(47 + 4-7) kQ ety = fop) heA-afaQus W, gga
% foru, fafer ot & s iferd fopr I 2 | vl @i
T R BT

(1) ol — e — areft — =i @

(2) e — g0 — S - e

(3) et — St — ATt — =i T

(4) B - — ST - g

23.

24.

25.

A battery consists of a variable number ‘n’ of
identical cells (having internal resistance ‘r’
The
terminals of the battery are short-circuited and
the current I is measured. Which of the graphs
shows the correct relationship between I and n ?

each) which are connected in series.

I—
@ !
(@) —>n
|
(2 T
(@) —n
I
3 T
0) —>n
I
@ !
(@) —n

A set of ‘n’ equal resistors, of value ‘R’ each, are
connected in series to a battery of emf ‘E’ and
internal resistance ‘R’. The current drawn is I
Now, the ‘n’ resistors are connected in parallel to
the same battery. Then the current drawn from
battery becomes 10 I. The value of ‘n’ is

(1 10

(2) 20
3 11
4) 9

A carbon resistor of (47 £ 4-7) kQ is to be marked
with of different
identification. The colour code sequence will be

(1) Violet — Yellow — Orange — Silver
(2)  Yellow — Green — Violet — Gold

(3) Yellow — Violet — Orange — Silver
(4) Green — Orange — Violet — Gold

rings colours for its
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26.

217.

28.

29.

Toret wafer fguar w1 3w foreft Tt i i Aot &
IS 39 H o forw fopam a7, foem Ay wey
I LT I TEd! e g1 auTEifSIa foham ST dehdl
21 27°C &y 9 W Ty I T=E 20 cm AW
73 cm B W g HUFTA TG 399 B 8 | Al waf
g &1 IERT 320 Hz 7, @1 g § & & 27°C W
an g

(1) 330 m/s
(2) 350 m/s
(3) 339 m/s
(4) 300 m/s

Y Q % foreft fogea Tma ufgemr @enfr ¢

% A ITelt g <l afgemiati & fiw fRR-Ggd 9o

(1) ufgsmaAi & o= ht gt W R =21 = |

(2) dfgwii & == 6l gt % A 6 STIHAII!
B E |

(3) ufgwmati o o 1 g  Wawha: AT
B E |

(4) dfgraTt < dta hi gft % AT BT B |

HTS FOHH TaUEEE ¥ Rl THEHE U HW H
Feate fgq-49 E § ®8 § 18 g, h, a1 2 | =@
fogd-&3 &1 g sfEidd W@d ge sEehl foum
Iohid K < It 7 | TR Wietd @ fomrewen @
s & SeateR gt h a6 sE Fr fon S 1 et
% fire o forg 7o g < qorn | g g i d
ot e T R

(1) |

(2) 10 TAT Afeh

(3) 5T M

(4) wHE

HIE AITh Th BBl Ho T H S § AH 8 3R
W IMEd et hi Aifd god &9 § WA i
W e | we feufd @ 5 m g W Eh Mo H

T 20 m/s2 B | Sl 1 JAEdRTA 3

(1) 2ms
(2) 2s
3) ms
4) 1s

26.

27.

28.

29.

A tuning fork is used to produce resonance in a
glass tube. The length of the air column in this
tube can be adjusted by a variable piston. At
room temperature of 27°C two successive
resonances are produced at 20 cm and 73 cm of
column length. If the frequency of the tuning fork
is 320 Hz, the velocity of sound in air at 27°C is

(1) 330 m/s

(2) 350 m/s
(3) 339m/s
(4) 300 m/s

The electrostatic force between the metal plates

of an isolated parallel plate capacitor C having a

charge Q and area A, is

(1) independent of the distance between the
plates.

(2) proportional to the square root of the
distance between the plates.

(3) linearly proportional to the distance

between the plates.

(4) inversely proportional to the distance
between the plates.

An electron falls from rest through a vertical
distance h in a uniform and vertically upward
directed electric field E. The direction of electric
field is now reversed, keeping its magnitude the
same. A proton is allowed to fall from rest in it
through the same vertical distance h. The time of
fall of the electron, in comparison to the time of
fall of the proton is

(1) smaller

(2) 10 times greater

(3) 5 times greater

(4) equal

A pendulum is hung from the roof of a
sufficiently high building and is moving freely to
and fro like a simple harmonic oscillator. The
acceleration of the bob of the pendulum is

20 m/s? at a distance of 5 m from the mean
position. The time period of oscillation is

(1) 2ms

2 2s
3) ms
4) 1s
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30. foret Ffvem gro fafefa v P 8 o a8 awe,

31.

32.

33.

Ay T 3Tfeehan Hat fafeRla w3 | o AR =
ISR 1 A9 gREfia & fen s g, we 76 9
%xoa@ﬁzﬁmaﬁwwfﬁr&sﬁamé,a
3% g fafeplta wiferd nP &1 STl @ | n <1 7 BAT

1 —
(2)

3 -

81
256

g AR U ggred o &4 g SR gEI o Tad ot wum
g | 95 AR I AIRY-HE F &TRA A 3R gW AR
I FTIEI-HE H FTFA 3A 7 | I 5@ F et
UEe R I AR H AL H glg h I 7, 9@ gE AR
Sl awerg H o g & gig H b AT fhdd W Al
JTETAHAT B 2

4)

(1) 9F
(2) 4F
3) 6F
4) F

s o 1 Sig @Y e fotmmaEen ¥ ot v ga
it 8 | W9 o1 & RO 3HA FOAT 39 BT R |
M & Sifqm (efld) a9 | 3oqa o= @il
frfafiga # @ foraeh sTgspaaT Bt 2 2

@ P

@ 1

3) 1

@ 1t

W g (1:013 x 105 Nm™2) 3R 100°C a4 W
0-1 g 9@ % T &I 100°C H 99 H gf@fdd & &
AU 54 FAh o HoA B AERIHA B & | AR

3UF WY H AFAA 167-1 cc 7, 9 39 T A
F=ANeh Sl § qiadd &

(1) 104:3J
(2) 42-24J
(3) 208:7dJ
(4) 8454J

30.

31.

32.

The power radiated by a black body is P and it
radiates maximum energy at wavelength, A,. If
the temperature of the black body is now
changed so that it radiates maximum energy at
wavelength % Ao, the power radiated by it

becomes nP. The value of n is

w3

(2)

@ -

81

(4) 956

Two wires are made of the same material and
have the same volume. The first wire has
cross-sectional area A and the second wire has
cross-sectional area 3A. If the length of the first
wire is increased by Al on applying a force F,
how much force is needed to stretch the second
wire by the same amount ?

(1) 9F
(2) 4F
3) 6F
4 F

A small sphere of radius r’ falls from rest in a
viscous liquid. As a result, heat is produced due
to viscous force. The rate of production of heat
when the sphere attains its terminal velocity, is
proportional to

@

@ r°
3 1?
@

A sample of 0-1 g of water at 100°C and normal
pressure (1-013 x 10° Nm™2) requires 54 cal of
heat energy to convert to steam at 100°C. If the
volume of the steam produced is 167-1 cc, the
change in internal energy of the sample, is

(1) 104-3J

(2) 42-2J
(3) 2087dJ
(4) 8454J
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34.

35.

36.

37.

firg (2,0, -3) WHH@ ae F = 41 + 5] - 6k @
g (2, - 2, — 2) % wi@: AT B

1) -8i-4j -7k

@ -171-8j -4k

3) —4i -] -8k

@) -7i-4j -8k

Toret B = 3TUT T Y g % AE I AT 0-001 em
U T B W gRI 1 | & YA I A
5 mm 3R FAF M H I Tl Tad | 25 WA

IR 7 | I TR T § A I — 0-004 cm 7, T g
ST TE S

(1) 0521 cm
(2) 0053 cm
(3) 0-525cm
(4) 0529 cm

M HI 0 o frdl oo 3Md 951 ABC W m

TSI T his sl FHATAR {2 8 | 39 a1 o grft
3R g @R ‘@’ o I @ | sdfeh &l a9 W o

T & fu a 31 0 & ofi9 g9y g
A
2
a
0
C B
1 a=_—°2
cosec 0

(2) a=gcos0

g
3 =
@ = sin 0

(4) a=gtan6
ﬁé%ﬁiwmmmq%%@ﬁw
fogd-&7 E %Wﬁ%&ﬁa&u@qwﬁﬁiw
W IMEE B | T UHUS ok AU H 9 q E %
SR FHHT AT 0 ¥ 6 m/s B WIAT B | I &
fTgaer A SHim Mo T & 1w e &
T9TE # HR S G YU qoh T B @Al 2 | 0 W
3 THvg & o9 R HR & fiEq o I 3fieq
91 U 7

(1) 2m/s, 4m/s

(2) 1m/s, 3:5m/s

(3) 1m/s, 3m/s
(4) 1-5m/s, 3m/s

34.

35.

36.

37.

- A A A
The moment of the force, F =4i + 5j — 6k at
(2, 0, — 3), about the point (2, — 2, — 2), is given by

A A A
(1) -8i-4j -7k
A A A
@ -17i-8j -4k
A A A
(3 -4i-j -8k

A A A
4) -7i-4j -8k
A student measured the diameter of a small steel
ball using a screw gauge of least count
0-:001 cm. The main scale reading is 5 mm and
zero of circular scale division coincides with
25 divisions above the reference level. If screw

gauge has a zero error of — 0-004 cm, the correct
diameter of the ball is

(1) 0-521 cm
(2) 0-053 cm
(3) 0525 cm
(4) 0529 cm

A Dblock of mass m is placed on a smooth inclined
wedge ABC of inclination 6 as shown in the
figure. The wedge is given an acceleration ‘a’
towards the right. The relation between a and 6
for the block to remain stationary on the wedge
is

A
2
a
m
C B
1 a=_—2
cosec 0

(2) a=gecosH

g
3 =
@ a sin 0

(4) a=gtan6
A toy car with charge q moves on a frictionless

horizontal plane surfa@) under the influence 0£>a
uniform electric field E . Due to the force q E,
its velocity increases from 0 to 6 m/s in one
second duration. At that instant the direction of
the field is reversed. The car continues to move
for two more seconds under the influence of this
field. The average velocity and the average speed
of the toy car between O to 3 seconds are

respectively

(1) 2m/s, 4m/s
(2) 1m/s, 3-5m/s
3) 1m/s, 3m/s
(4) 1-5m/s, 3m/s
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38.

39.

40.

41.

TS m T Teh Tiasfiel eehl, 4m geau & fereht
T fOR ek § Hug AT ¥ | HUE % 9YETd, goh
Teeh! o stawen ® o SaT B | ARG Fooh YLk w1
IR o7 v §, I T O (e) T HH AT

(1) 05
(2) 08
(3) 025
(4) 04

AN T T IR Ha1g h & F¥vRfzgd uor & S7fem
T 3TaEAT © Tk 1o hiE Uvg, AH AB =D &
FHealeR g I Sih-3Neh G0 HT 2 | 99 Ha18 h geft

B

(D

2 =D

3) D

5
(4) ZD
= fovg, A : (T 3™ @), B : (TH dact IR
FHdt) qA C : (Th JAHR BDgl), oW g *
geaqE M et =41 R R, 99 vl =1e o 8 STut
Tmfife 31e7i o Uitd: =hol L @ & | 32 foRmmaEer
M % fu fhu IH 9@ ravEs It (W) & foe
HIF-G1 GEY TE B ?
(1) Wg>Wg>W,
(2) WB>WA>WC
(3) WA>WB>WC

(4) WA > Wc > WB

Frafafaa @ 9 wH-01 w99 @ 8 2

(1) el gy gdf =¥ 4 w5 8T ? |

(2) =¥ o1 ITUfeTen i W foiy AT R |

(3) T3faes wdur w1 Hma w Al gfafsen &

SASHATT BT B |
(4) =t ooy o Y fermmd Trag A fon & TmE
B & |

38.

39.

40.

41.

A moving block having mass m, collides with
another stationary block having mass 4m. The
lighter block comes to rest after collision. When
the initial velocity of the lighter block is v, then
the value of coefficient of restitution (e) will be

(1 05
(2) 08
(3) 025
(4) 04

A body initially at rest and sliding along a
frictionless track from a height h (as shown in
the figure) just completes a vertical circle of
diameter AB = D. The height h is equal to

h B
o
J’ A
@ 3p
@ LD
3) D
) gn

Three objects, A : (a solid sphere), B : (a thin
circular disk) and C : (a circular ring), each have
the same mass M and radius R. They all spin
with the same angular speed m about their own
symmetry axes. The amounts of work (W)
required to bring them to rest, would satisfy the
relation

(1) We>Wg>W,
(2) Wg>W,>Wg,
3) Wp>Wp>Wg
4) Wi>We>Wp
Which one of the following statements is

incorrect ?

(1) Rolling friction is smaller than sliding
friction.

(2) Frictional force opposes the relative motion.

(3) Limiting value of static friction is directly
proportional to normal reaction.

(4) Coefficient of sliding
dimensions of length.

friction  has
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42.

43.

44.

45.

TH o Al dled T H 7 | dled A # aeqg
TYFTAE TS ot (K,) o E1e-8me gqoil Tfas S
(K,) oft gt 2 | et o foe K, @ (K, + K,) 31 319
Eull

(1) 7:10
(2) 10:7
3 5:7
4) 2:5

I3 3IF el o STTehTel | 70T THmf 3787 < gfa:
U ®Y U YO K TET R | @ T b1 geAHH EHH
w@d gu Tk B § gfg oSt R M % faw
frafefea & @ - wifes ofy forg @l 2

(1)  hIofR o

(2) =it fas et

(3) iScd ST
(4) <RI T

Ife @ &1 A 1i0 THT B qAT WEL Tecarehyol
e afmmr § 10 T &, @ ffafea § @ wha
wEl 7T 7 ?

(1) a9t 1 ¢ ot W etk I | fid |

(2) YA W WA AT 1 STEAHIA HH 8 S |
(3) Rl W TS A HiSA & S |

(4) geeft W g’ % A H qitacd & g |

T % AR AR Srefeeii wenm # fawe 7w A feufat
A, B 3R C R IS Hard A Ky, K 3 K 7 |
AC < 31 7 qen g i feafa S wSB fesmgem &

FAJACT A g | a

1) Kp<Kg<Kg
(2) Kg<Ky<Kg
3) Kp>Kg>K;
(4) Kg>K,>Kg

42,

43.

44.

45.

A solid sphere is in rolling motion. In rolling
motion a body possesses translational kinetic
energy (K;) as well as rotational kinetic energy
(K,) simultaneously. The ratio K; : (K; + K,) for

the sphere is

(1 7:10
2 10:7
3 5:7
4) 2:5

A solid sphere is rotating freely about its
symmetry axis in free space. The radius of the
sphere is increased keeping its mass same.
Which of the following physical quantities would
remain constant for the sphere ?

(1) Angular velocity
(2) Rotational kinetic energy
(3) Moment of inertia

(4) Angular momentum

If the mass of the Sun were ten times smaller
and the universal gravitational constant were
ten times larger in magnitude, which of the
following is not correct ?

(1) Raindrops will fall faster.

(2) Time period of a simple pendulum on the
Earth would decrease.

(3) Walking on the ground would become more
difficult.

(4) ‘g’ on the Earth will not change.

The kinetic energies of a planet in an elliptical
orbit about the Sun, at positions A, B and C are
K,, Kg and K, respectively. AC is the major
axis and SB is perpendicular to AC at the
position of the Sun S as shown in the figure.
Then

(1) Kp<Kg<Kg
(2) Kp<Ky<Kq
3) Ky>Kg>Kg
(4) Kg>K,>Kg
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46.

47.

48.

49.

NH,, H,, O, @21 CO, * fou aret =meq feere
HAM: 4-17, 0-244, 136 TS 359 feu wuw ¥ |
frafafaa @ @ - g ge8 @ ¥ gfad 8 St
77

(1) NH;

(2) O,

(3) H,

4) CO,

Frafafea foe@at w1 NaOH wa HCL i fim-fig
Hrgarall T TG o s & s=mEm = R

a. 60 mL M HCI + 40 mL E NaOH
10 10

b. 55 mL M HCI + 45 mLL E NaOH
10 10

c. 75 mL % HCI + 25 mL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

394 O fohgent pH, 1% SUsT 81 2
(1)
(2)
(3)
4)
BaSO, #1 298 K W 5a # faerar 2-42 x 1073 gL ™!
@ | forctd e (K ) <t A §iT

(fean T 8 BaSO,, 1 AIeR e99H = 233 g mol 1)

o » o T

(1) 108 x 107 mo1? 1.2
(2) 108 x 104 mol? L2
(3) 1-08 x 1072 mol? L, 2

(4) 1-08x 108 mol2 L2

fffiga & & -8 o0 W ARE H Thed &ma
it et B 2

(1) <haet TR o SATEY IRHTT T

(2) ITF & AAY IR TF AEY 8 gA1 |

(3) hael A & HR T

(4) Had A & AT o |

46.

47.

48.

49.

Given van der Waals constant for NH3, H,, O,
and CO, are respectively 4-17, 0-244, 1-36 and
3-59, which one of the following gases is most
easily liquefied ?

(1) NHj4

(2) Oy

(3) Hy

(4) COq

Following solutions were prepared by mixing
different volumes of NaOH and HCI of different
concentrations :

a. 60 mL M HCI + 40 mL M NaOH
10 10

b. 55 mL E HCI + 45 mL M NaOH
10 10

c. 75 mL % HCI + 25 mL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

pH of which one of them will be equal to 1 ?
(1
(2)
3)
4)

The solubility of BaSO, in water is
2:42 x 107 gL_1 at 298 K. The value of its
solubility product (Ksp) will be

o »® o T

(Given molar mass of BaSO, =233 g mol 1)
1) 1-:08x 10719 mol2 .72

2 1-08x 10 * mol? .72

(3) 1-08x 102 mol2 .72

4) 1-08x 10 mol? L2

On which of the following properties does the
coagulating power of an ion depend ?

(1) The magnitude of the charge on the ion
alone

(2) Both magnitude and sign of the charge on
the ion

(3) Size of the ion alone

(4) The sign of charge on the ion alone
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50.

51.

52.

53.

54.

55.

tfeem @ e ¥ w@d gu fefafed § @
- Grg HT WA UG b Aq=RE § feRam o
TRl B ?

(1) Fe

(2) Mg

3) Zn

4) Cu

FrafaRad # @ 79 13 o awi § WHTvgS Brsmett &
-1 59 TE 8 ?

(1) B<Al<In<Ga<Tl

(2) B<Ga<Al<Tl<In

(3 B<Al<Ga<In<Tl

(4) B<Ga<Al<In<Tl

CIF; 1 @& | g WA ‘CI W THEhl g
TAFLHI hl TEAT 7

(1) T

(2) =R

3 &

(4) =

N-AMfehi  $eh! STEIHOT ST 1 Heal g7
EHET R

(1) HNOg, NO, N,, NH,Cl

(2) HNO,, NH,CI, NO, N,

(3) HNO,, NO, NH,CI, N,

(4) NH,CI, N,, NO, HNO;

gAHl & fou fyfafed § @ sH-a1 %o o9 787

22

(1) Tft vohe T 3Tt 3 oA § |

(2) FAH & orcEen G@ft gdTeRes  ATeRieRT
3TaETd g @ |

(3) Gt STirfieRRes AfiYeRHe 2 |

(4) FAHA < Halferen saee U8 T B |

frafafes § & ®9-a = MF63‘ ARE T H

arEmdf B 2

(1) Ga

2 B

3) Al
4) In

50.

51.

52.

53.

54.

55.

Considering Ellingham diagram, which of the
following metals can be used to reduce alumina ?

(1) Fe

(2) Mg

3) Zn

4) Cu

The correct order of atomic radii in group 13
elements is

(1) B<Al<In<Ga<Tl

(2) B<Ga<Al<Tl<In

(3) B<Al<Ga<In<Tl

(4) B<Ga<Al<In<Tl

In the structure of C1F3, the number of lone pairs
of electrons on central atom ‘CI’ is

(1) one

(2) four

3) two

(4) three

The correct order of N-compounds in its
decreasing order of oxidation states is

(1) HNOg, NO, Ny, NH,Cl

(2) HNO,;, NH,CI, NO, N,
(3) HNOj,, NO, NH,CI, N,
(4) NH,CI, Ny, NO, HNO,

Which of the following statements is not true for
halogens ?

(1) All form monobasic oxyacids.

(2) All but fluorine show positive oxidation
states.

(3) All are oxidizing agents.

(4) Chlorine has the
enthalpy.

highest electron-gain

Which one of the following elements is unable to
form MFg’ “ion ?

1) Ga

(2 B

3) Al

4) In
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56.

57.

58.

59.

60.

forle =g 3toran STetshn sigetehl o Hew # freferiad o

Y HH-T1 HAH HGT B ?

(1» W fafim Wo wgos geast & 6=
TggaIoleh e Bd 8 |

(2) Slehelise T HATHHA 8 IaTET & |

(3) ;ﬁﬁgﬁaﬁw@ﬁﬁmma@%qwaﬁﬁ

|

(4) T TEAH U H YGA HEHANH IEY
Fd 3 |

el 1 AR yad el Wiemw H e W

m-TTEINefA oft ST 8 s

(1) fcreermdes 1 Iufeafa & amasg 152l Tqg A
et m-feafs w & ST @ |

(2) vfreames & sufeafa # g @ gwn
m-ferfa o Smar 7

(3) THRATRE wheaw sfufEn § UM W
m-FreeeR 7 |

(4) ot (voet) wrem | Ufefa ufefifem smem
HEIH B R |

fefafga & @ SH-H feases H alfus s

Tepid & ?

(1) MgO

(2) BaO

(3) BeO

(4) CaO

Vet e Uftretfaed o fafiear 8

(1) UHEAufFAH 1 - 4 o999 q1 1 - 6 a-FeH
&

(2) UFENfEA § 14 o897 T 1 — 6 pF9 &

(3) VAW H 154 o A1 > 6 p-aEH B

(4) UftrelE e T fdedE | 9 2

2:3 g Wil A qAT 4-5 g STFTTeh TFA hl TG

H,S0, & fran am = Icafsla e s vt KOH

% BIC Sl ¥ TAW Il 2 | STP W 5+ T I9]
1 W (g H) BATI

(1) 14
(2) 28
3 30
(4) 44

56.

57.

58.

59.

60.

Regarding cross-linked or network polymers,
which of the following statements is incorrect ?

(1) They contain covalent bonds
various linear polymer chains.

between

(2) Examples are bakelite and melamine.

(3) They are formed from bi- and tri-functional
monomers.

(4) They contain strong covalent bonds in their
polymer chains.

Nitration of aniline in strong acidic medium also

gives m-nitroaniline because

(1) In spite of substituents nitro group always
goes to only m-position.

(2) In absence of substituents nitro group
always goes to m-position.

(3) In electrophilic substitution
amino group is meta directive.

reactions

(4) In acidic (strong) medium aniline is present
as anilinium ion.

Which of the following oxides is most acidic in
nature ?

(1) MgO
(2) BaO
(3) BeO
(4) CaO

The difference between amylose and amylopectin
is

(1) Amylopectin have 1—4 o-linkage and
1 — 6 o-linkage

(2) Amylopectin have 1 — 4 a-linkage and
1 — 6 p-linkage

(3) Amylose have 1—4 o-linkage and
1 — 6 B-linkage

(4) Amylose is made up of glucose and

galactose

A mixture of 2:3 g formic acid and 4-5 g oxalic
acid is treated with conc. HySO4. The evolved
gaseous mixture is passed through KOH pellets.
Weight (in g) of the remaining product at STP
will be

(1 14
(2) 28
3 30
(4) 44
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61.

62.

63.

3q Affshan

OH O™Na*
@ + CHClg + NaOH ———> @ CHO
o i Soidei e

®
(1) SRFANHIS g9 (CHCl )

)
(2) SRFARMEA FOME (CHCL,)

@
(3) WitHA 9= (CHO )
(4) eSEFARGEA (:CCly)

FIATFfcTh 3TFAl o FaHIh THCT ATUIh GeIuH
I Ufcegssl, ISl doT I8 % foh Uchlgial 4
IAW B & | I8 Fheeh R BT B 2

(1) F=q:3nfueeh gEeioH 989 a1 °

(2) AT AT 1 e ATIH HUH A&
T THYU el h g BT B

(3) HIEfFaRIe 3T o a4 °
(4) SAUANTIS gEGoH qe a4 I

T A 2 A, CgHy(O S foh NaOI (Y 1 stfurfsman
NaOH & oieh s 1) | 1fufshan sk enerfores

T arer Gl a8 T B |
A 3R Y HAS: B

1 H¢ — ) CH, - OH 3R,
@) @— (|3H — CH3 3R I,
OH

(3) @— CH, - CH, — OH 3R I,

CH,

4) CH, G OH 3 I,

In the reaction

OH O Nat

@ + CHCl, + NaOH ——> @ CHO

the electrophile involved is

®
(1) dichloromethyl cation (CHCly)
S]
(2) dichloromethyl anion (CHCl,)

@
(3) formyl cation (CHO )

(4) dichlorocarbene (:CCly)

Carboxylic acids have higher boiling points than
aldehydes,
comparable molecular mass. It is due to their

ketones and even alcohols of

(1) formation of intramolecular H-bonding

(2) more extensive association of carboxylic
acid via van der Waals force of attraction

(3) formation of carboxylate ion

(4) formation of intermolecular H-bonding

Compound A, CgH,,0, is found to react with

NaOlI (produced by reacting Y with NaOH) and
yields a yellow precipitate with characteristic
smell.

A and Y are respectively

1 Hy¢ < ) CH,-OHand 1,
(2) CH-CH; and I
Oy-en-onm
OH

® ¢ ) CH,-CH,-OHand1,

CH,

(4) CH, G OH and I,
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64. Trforfan & & g oy & At ¥ and ¥ weH A

sp?, sp?, sp, sp HeHIIT ST ST & ?
(1) HC=C-C=CH
(2) CH,=CH-CH=CH,
(3) CH,=CH-C=CH

(4) CHy;-CH=CH-CH,

feafafga & @ o9 wEvARA gaifte mh
Ifera & 2

NO,

65.

(D ®

Y H
NO,
Y ®
NO,
)

Y H

NO,

ffafga & @ ufaeamesl % -1 wwe & ged o
81 76 2 ? (R = Ufesha)

@)
(2)
3)
4)

T

(2)
3)
(4)

o

66.

-NH; <-OR<-F
-NHy>-OR>-F
—-NRy<-OR<-F
—-NRy>-OR>-F

64.

65.

66.

Which of the following molecules represents the
order of hybridisation sp2, sp2, sp, sp from left to
right atoms ?

(D
(2)
3
(4)

HC=C-C=CH
CHy=CH - CH = CH,
CHy=CH-C=CH
CH3;-CH =CH - CH;

Which of the following carbocations is expected to
be most stable ?

NO,

Y H
NO,

v/ &

NO,

Y H

NO,

Which of the following is correct with respect to
— I effect of the substituents ? (R = alkyl)

(1) -NH,<-OR<-F
(2)
(3)
(4)

an

(D
(2)
(3
4)

<

-NH, >-OR>-F
—-NRy<-OR<-F
-NRy>-OR>-F
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67.

68.

69.

70.

71.

HFA [CoCly(en),] GRI JEHRIA HHTSRIEAT I THR 3
(1) Ao FETaadr

(2) AR "HTSR—EdT

(3) SUHEEIISH GHTEIET

(4) S gHTEEEdr

Fafafad § @ SH-A1 I d-d GhHYT ST § a9

1o & ATTrhed W1 ?
(1) €02~

(2) MnO,

(3) Cry02”

4) MnO;~

IR e, Fe(CO)5 8
(1) =gshhoH

(2) Trehgs
(3) UHhgHh
(4) fghgw

Hiam 1 4 fqu MU arg 3mEl @l wiew 11 § fgu M
IRAT %k WU grEch omeEn ¥ fiemsu qen
@gl Toha w1 ffdse Hifvw

Ficrd [ HicrH 11
a. Co’* 1. J8 B.M.
b. Cr’* ii. /35 B.M.
c. TFedt iii. /3 B.M.
d. Ni* iv. /24 BM.
v. 15 B.M.
a b c d
1 v v ii i
@ iv i ii iii
3) i ii ii iv
@ ii v i ii

[Ni(CO),] §5a I AT & Frahi 0T &
(1) =t eHael sfufa wd gfogresha
(2) o GHdelt sarfufd T SEgrEhE
(3) TgSHAS ST wa gfagrashi
(4) FHEh SATUL T SATTrh

67.

68.

69.

70.

71.

The type of isomerism shown by the complex
[CoCly(en)sy] is

(1) Geometrical isomerism

(2) TIonization isomerism

(3) Coordination isomerism

(4) Linkage isomerism

Which one of the following ions exhibits
d-d transition and paramagnetism as well ?

2—
(1) Cr0]

(2)  MnO,
3) Cr,0F
(4)  MnO%"

Iron carbonyl, Fe(CO)j is

(1) tetranuclear
(2) trinuclear
(3) mononuclear

(4) dinuclear

Match the metal ions given in Column I with the
spin magnetic moments of the ions given in
Column II and assign the correct code :

Column I Column I1
a. Co>* i. 8 BM.
b,  Cr3* ii. /35 B.M.
c. TFe3* iii. 3 B.M.
d.  NiZ* iv. 24 BM.
v. /15 BM.
a b c d
1 iv v ii i
@2 iv i ii iii
3 i ii iii iv
4) i v i ii

The geometry and magnetic behaviour of the
complex [Ni(CO),] are

(1) square planar geometry and diamagnetic
(2) square planar geometry and paramagnetic
(3) tetrahedral geometry and diamagnetic

(4) tetrahedral geometry and paramagnetic
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72.

73.

74.

75.

vo i wa g wife stfifmensti & &t faftrmn 2

(1) vem wife K rfufspn w1 I Afieres 6
grearett ® AR 78 w=ar B; fedm wife i
Al o1 a1 SAferRes 1 drgaret W At
AT B

(2) YW Hife i rffshar 1 IE fomam S dehan
2; fecfia =ife < srfefspen =1 S &1 foma
HehdT 3

(3) m whife shi Srffshan <hi 7ei-a1mg (Al W it
Td #; fodfa wife 6 sifufean 1 srdamy (A,
T et 3

(4) vem wife i efufseen w1 o sifyers i
Tzttt W R e g; fodfia ife 6 sifwfsren
1 o 3fiehies <l @rgarstt W i & e
g

CaH,, BeH,, BaH, # 3T Whid &I %7 3

(1) BeH, < CaH, <BaH,

(2) BeH, < BaH, < CaH,

(3) CaH, < BeH, <BaH,

(4) BaHl, <BeH, < CaH,

fopa fearfa & STat 3 arupedt it T stfrshar 2 2

(1) 18 mL <t & foru

(2) 1atmTd 273 KW 0-00224 L 3d a9 & fo1g

(3) 018 g9 & faQ

(4) 10739 I & for

= fou U o H, S I offeie stgwen §
giad fafir fo.a1. s (emf) HHT W esmien T R

- 182V - 15V
BrOy, — BrO3 ——> HBrO

Br <T0es2v B2 “Thesv
B T R e
(1) BrO;
(2) Br,
(3) Bro;
(4) HBrO

72.

73.

74.

75.

The correct difference between first- and

second-order reactions is that

(1) the rate of a first-order reaction does not
depend on reactant concentrations; the rate
of a second-order reaction does depend on
reactant concentrations

(2) a first-order reaction can be catalyzed; a
second-order reaction cannot be catalyzed

(3) the half-life of a first-order reaction does not
depend on [A]l); the halflife of a

second-order reaction does depend on [A]
(4) the rate of a first-order reaction does
depend on reactant concentrations; the rate

of a second-order reaction does not depend
on reactant concentrations

Among CaH,, BeH,, BaH,, the order of ionic
character is
(1) BeH, < CaH, < BaH,

(2) BeH, < BaHl, < CaH,
(3) CaH, < BeH, < BaH,
(4) BaH,; < BeH, < CaH,

In which case is the number of molecules of water
maximum ?

(1) 18 mL of water

(2) 000224 L of water vapours at 1 atm and
273 K

(3) 0-18 g of water
(4) 1072 mol of water

Consider the change in oxidation state of
Bromine corresponding to different emf values as
shown in the diagram below :

_ 182V - 15V
BrOy — BrO3 —— HBrO

Br~

«— B
10652V 2 1595V

Then the species undergoing disproportionation
is

(1) Brog
(2) Bry

3) BrO;
(4) HBrO
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76.

71.

78.

79.

80.

X, Yo 3R XY I 37wy foRioH Sleti & Fuma
1:05:1 8 | XY & fowm i wdeh
AH = - 200 kJ mol™ B | X, I 31y forirsH ot
gt

(1) 200 kJ mol !

(2) 800 kJ mol !

(3) 100 kJ mol !

(4) 400 kJ mol !

S AfHRh hT TR Hwgar 1 g1 feha ST 2,
@ I Hife Atufshan & fou s1¢-o1y wa

(1) 3men 8 &

(2) o gar 2

(3) I 83

(4) IFaREfdd T 8

ey SAfufshan
MnO, +Cy0; + H* — > Mn?* + CO, + HyO

% fou wgfed et < g stfiepient & @@t o
®

MnO, C,07~ H'
(1) 16 5 2
2 2 16 5
3) 2 5 16
4 5 16 2

srfufshan 7 Fafafaa & @ wH-H g sifiean e
o o foT ITRER ®,

Ay (g) + By (g) = X, (g)
(1) =1 qm @ 3= T
(2) 3= dM Ud IH T
(38) fim= am wa = g
(4) 3= a9 g = g

aTest e wefieRtor | TENeH T ‘o’ TEfd 7
(1) 79 3Tl & oca 9§

(2) T\ 3Rt & Ae Iufeyd fagq-a9 @
(3) T\ 33T & IRIGH &

(4) 79 3T &% ALY RNV Tl

AH=-XkJ?

76.

71.

78.

79.

80.

The bond dissociation energies of X,, Y, and XY
are in the ratio of 1: 0-5 : 1. AH for the formation
of XY is — 200 kJ mol . The bond dissociation
energy of X, will be

(1) 200 kJ mol*
(2) 800 kJ mol*
(3) 100 kJ mol*
(4) 400 kJ mol*

When initial concentration of the reactant is
doubled, the half-life period of a zero order
reaction

(1) 1is halved
(2) 1istripled
(3) 1is doubled

(4) remains unchanged

For the redox reaction
MnOj +Cy02” + H'—— Mn®* + CO, + H,0

the correct coefficients of the reactants for the
balanced equation are

MnO; C,07~ H'
1 16 5 2
2 2 16 5
3 2 5 16
@ 5 16 2

Which one of the following conditions will favour
maximum formation of the product in the
reaction,

Ay (g +By(g) = Xy(g) A H=-XkJ?
(1) Low temperature and high pressure
(2) High temperature and high pressure
(3) Low temperature and low pressure

(4) High temperature and low pressure

The correction factor ‘a’ to the ideal gas equation
corresponds to

(1) density of the gas molecules

(2) electric field present between the gas
molecules

(3) volume of the gas molecules

(4) forces of attraction between the gas
molecules
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81.

82.

83.

84.

ITifIem T o (X) ¥ Al e T e
Aifies s 7| A (X)) w1 Feam oremenm #
3@?{7‘&@%7&11? 152 2g2 2p3%,?ﬁ3'€-f?ﬁ'ﬁ'ﬁ?ﬂ
T g7 7
(1) MgyXy
(2) Mg,X
(3) MgX,
(4) MggX,
ST T A & a9 T bee TEHT 8T 2 | 900°C &
FWR IE fec TEEAT § YHaETdd & ST 8 | A & H
% 19 T =cd 1 900°C a9 T Hcd § STITd BTl
(W RIT ST 1 AR GeaHH Td AT s ar
% @y feer 8)

V3
® =

343
42
43
3v2

1
(4) 3

FrfaRad wiefis = foem AT
CN*,CN~, NO q1 CN

T O fohoehl S=qu ey Hife B 2

(1) NO

(2) CN*

(3) CN~

(4) CN

Frafafaa & & wH-a1 e @ § 2

(1) ‘& Heeh H Folag hl HA helh U Fom
I % R |

(2) N UTHI] Sl Sl fo=rmd

162 252 2P} 2py 2p)

PO [T e

(3) U heh i FareH e ¥ iy 3 wefh
TH T H UF soEgE IR Faied e 8§
ffgz a1

@ d2 % U ms aH = #

(2)

3

81.

82.

83.

84.

Magnesium reacts with an element (X) to form an
ionic compound. If the ground state electronic
configuration of (X) is 15 252 2p3, the simplest
formula for this compound is

(1) MgyXs

(2) MgoX

(3) MgX,

Iron exhibits bee structure at room temperature.
Above 900°C, it transforms to fcec structure. The
ratio of density of iron at room temperature to
that at 900°C (assuming molar mass and atomic
radii of iron remains constant with temperature)
is

J3

1) X2
(D N

33
442

43
3v2
1

4) 0

(2)

6))

Consider the following species :

CN*, CN~, NO and CN

Which one of these will have the highest bond
order ?

(1) NO
(2) CN*¥
(3) CN~
(4) CN

Which one is a wrong statement ?

(1) Total orbital angular momentum of electron
in ‘s’ orbital is equal to zero.

(2) The electronic configuration of N atom is
162 252 2P} 2py 2p,

Py L

(3) An orbital is designated by three quantum
numbers while an electron in an atom is
designated by four quantum numbers.

(4) The value of m for dZ 9 1s zero.
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85.

86.

87.

88.

argree # St Td A fmanet A & Riftfa Tedom
T BT HATFATES TRV TgTh Tg7 & 2

(1) N,O,

2 N,0

(3) NO,

4) NO

BIEgIhEA (A) S & yfqeadm gra 3Tfrfshan s
T Ufoshd sEge <ar @ W fR gdw srfufem g
Teffr grgieRe # ufafda drar 8 few fp =m & =m0
e T 7 | (A) 7

(1) CH=CH

(2) CHy-CH,g

(3) CH,=CH,

(4) CH,

ANfies A 1 Na & 1fufshan @™ W a8 B a1 8 qe
PCl; % @1 SATTSHIT FaH WIg C @8 | B T C
AT h T T ANTHAT HEaH W SIS 32/ 9T
BAT2 | A, BAMCHAH B

(1) C,HsOH, CyHy, CoHCl
(2) CoH;Cl, CoHg, C,HOH
(3) C,HsOH, C,H,Cl, C,H;ONa

(4) C,H;OH, C,H;ONa, C,H;Cl

T AfR C,Hg Ffafaa stfufsranst & 1omar 2 -

3 Clz/A Br2/Fe Zn / HC1
A B

C

(4) p-SEICAEA

85.

86.

87.

88.

Which oxide of nitrogen is noft a common
pollutant introduced into the atmosphere both
due to natural and human activity ?

(1) NyO54

(2) Ny,O

(3) NOgy

(4) NO

(A)
substitution to form an alkyl bromide which by

Wurtz

hydrocarbon containing less than four carbon

Hydrocarbon reacts with bromine by

reaction 1is converted to gaseous

atoms. (A) is

(1) CH=CH

(2) CH;-CHg

(3) CH,=CH,

(4) CHy

The compound A on treatment with Na gives B,

and with PCl; gives C. B and C react together to
give diethyl ether. A, B and C are in the order

(1) C,HsOH, CyHg, CoH,Cl
(2) C,H,Cl, CyHg, CoH50H

(3) C,HsOH, C,HCl, C,H;ONa
(4) C,HsOH, CoH;ONa, CyH5Cl

The compound C;Hg undergoes the following

reactions :
3Cly/A

Bry/Fe _ 7Zn/HCI
A —2 B = C

7Hg
The product ‘C’ is

(1) m-bromotoluene
(2) 3-bromo-2,4,6-trichlorotoluene
(3) o-bromotoluene

(4) p-bromotoluene
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89. fimfufaa arfirfran 91—@(,” # geg 3ae P, Q 3R R 89. Identify the major products P, Q and R in the

N f following sequence of reactions :
e Anhydrous
AlCI AlC1
@ + CH4CH,CH,Cl ——3 > @ + CHyCH,CH,Cl ———3 >
(i) Og (i) Og
—_—> P——>Q+R
@m0 YR @ Ha0va &
P Q R
P Q R

CH,CH,CH,  CHO
@ CH,CH, - OH

CH(CHy), OH

@ CH3CH(OH)CH;4

CH,CH,CH; CHO  COOH

0.0

OH

CH(CH,),
| CHy—CO - CHy

CH,CH,CH; CHO

(1)
&) . CH4CH, - OH

O

CH(CHy),

@) @

CH,CH,CH; CHO  COOH

3)
(3)
OH
CH(CHy), 4)
@) @ CH; - CO — CH,

OH 2)
. CH3CH(OH)CHg

Q O Q

90. fr=fafga & ¥ +H-a1 Nk fRacsT™ 91 THa1[90. Which of the following compounds can form a

27? zwitterion ?

(1) v (1) Aniline
(2) SAIsH A (2) Benzoic acid
(3) uHiFeTES (3) Acetanilide
(4) TeTgHE

(4) Glycine
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91. Tmfafea o @ +=-w1 %= g 2 ? 91. Which of the following statements is correct ?
(1) Wﬁ?ﬁ T dfiemg e R g ufteg (1) Ovules are not enclosed by ovary wall in
Rl gymnosperms.
(2) BEH Wﬁﬂaﬁﬁﬁ 2 (2) Horsetails are gymnosperms.
(3) Rcfoder T fowwsSm aen 7, wEfh (8) Selaginella is heterosporous, while Salvinia
Gooifa7 T THESY] T 7 | is homosporous.
(4) GEHY ARG8T T T ARG O SARad (4) Stems are usually unbranched in both
KGR Cycas and Cedrus.
92. vEA-A forem Bt 8 2 92. Pneumatophores occur in
@)) Wﬂ?ﬁiﬁq@ T (1) Halophytes
(2) TETER! redi § (2) Carnivorous plants
(3) TIdA-3IcATdHh Gl?ﬁiﬁrq'\ | (3) Free-floating hydrophytes
(4) STetHH Gi?ﬁiﬁﬂ q (4) Submerged hydrophytes
93. TIh(hG [hEehHT TUTI 7 ? 93. Sweet potato is a modified
(1) <1 (1) Stem
(2) wHaT g (2) Tap root
(3) W % 1 (3) Adventitious root
(@) 5 (4) Rhizome
94. I TIEH FHH 5 ?{rg gt e bl 94. Plants having little or no secondary growth are
0
T(-‘T)ﬁ "EIFEI (1) Grasses
@) Q_@ il (2) Conifers
3) T - (3) Deciduous angiosperms
(4) TEHEH ° (4) Cycads
95. O ufeat Bt § 2 95. Casparian strips occur in
(1) e (1) Epidermis
(2) W (2) COI‘teX
(3) ey (3) Pericycle
(4) ST=aca= (4) Endodermis
96. fefiowsht @ o fedfiues Tgem 3 weien foha® 3cu< | 96. Secondary xylem and phloem in dicot stem are
ga3? produced by
(1) ey favsan (1) Apical meristems
(2) TS (2) Phellogen
(3) W wan (3) Vascular cambium
(4) e fawrsan (4) Axillary meristems
97.  TeTd Eﬁm.aﬁ SIEL e 97. Select the wrong statement :
(1) el 3 uIey I % wee # i fifd (1) Cell wall is present in members of Fungi
Iuferd @?ﬁ % | and Plantae.
(2) Fﬁ' R f’ﬁ[ H uTer W S @ 7w (2) Pseudopodia are locomotory and feeding
m g structures in Sporozoans.
(3) ToHhI H HrY aﬁﬁ?ﬁm qg | ] (3) Mushrooms belong to Basidiomycetes.
(4) HET fé s Tl ‘3 ForTdt bt piferhr | (4) Mitochondria are the powerhouse of the cell
AR Teh fHATE & | in all kingdoms except Monera.
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98.

99.

100.

101.

102.

103.

104.

... & rdERet gfosfa w1 gEnfies s wedvem
ferard gifem I o 2

(1) as H

(2) UEuH

(3) Shamy ¥

(4) foumog o

Ag g w1 g -

(1) T JhE — Beiwimd ZHH

(2) By BOcE IR U, WEd — JETT J2r3aH

(3) ks e i mai=m - Humd.

(4) hoaTH SYehel AT ek HIFIS — o YU

g HUH I T

(1) “Tgerdar’ eg 1 |10 el TeTaa o foma |

(2) TATSRRIET T § 9 od § |

(3) e aif we farfesr danfaes gro foenfea femam
o |

(4) ITRGRHU I WIS TH. 3TeeA™ A i off |
frfafed 9 @ ®F-91 9w 777 €9 ° AR ® ?
(1) HeUH HS &AWl :  wgforhodl

(2) XO &R fom fgior . fegar

(3) ABO W& aqgd REERIEGI

(4) A=, m@e HEAHT

‘STRded fohdeh gRT IcaTied BId @ ?
(1) e fawrsm gro

(2) SAFNHHAT g

(3) ¥ fawreH gra

(4) NS g

Frafafaa @ & forow 3us Sfeq +1et T Shaw T aR
& g B R 2

(1) g wfisfis

(2) ™

(3) A

(4) 9din

frafafea & @ #-a wm &t Sfad & 9 0§
IR T § e "t g3 ?

(1) W fohe

(2) defia Te=a

(3) AT aTeT = <A

(4) THOHRAA

98.

99.

100.

101.

102.

103.

104.

The experimental proof for semiconservative
replication of DNA was first shown in a

(1) Fungus

(2) Plant

(3) Bacterium

(4) Virus

Select the correct match :

(1) Alec Jeffreys — Streptococcus
pneumoniae
(2) Matthew Meselson —  Pisum sativum
and F. Stahl
(3) Alfred Hershey and - TMV
Martha Chase

Francois Jacob and
Jacques Monod

(4)

Lac operon

Select the correct statement :
(1)
(2)
3

Franklin Stahl coined the term “linkage”.
Spliceosomes take part in translation.

Punnett square was developed by a British
scientist.

(4)
Which of the following pairs is
matched ?

(1)
(2)

Transduction was discovered by S. Altman.

wrongly

Multiple alleles
Grasshopper

Starch synthesis in pea
XO type sex
determination

(3) ABO blood grouping
(4) T.H. Morgan

Offsets are produced by
(1) Meiotic divisions
(2) Parthenocarpy
(3) Mitotic divisions
(4) Parthenogenesis

Which of the following flowers only once in its
life-time ?

(1) Bamboo species

(2) Mango

(3)  Jackfruit

(4) Papaya

Which of the following has proved helpful in
preserving pollen as fossils ?

(1) Pollenkitt

(2) Oil content

(3)
(4)

Co-dominance
Linkage

Cellulosic intine
Sporopollenin
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105.

106.

107.

108.

109.

110.

HHE R § €.TH.T. & Th ghg o HavH o g
Freafafaa 8 @ S9-a1 99 am=Ia: S R S
27

(1) Gremsd (9= aTged)
(2) AW

(3) TivwisHe

(4) pBR 322

Uifes Sf@e Affhar (PCR) § <RUN &1 €& %A
R ?

(1) Toreao, fespterto, TfieM

(2) TorhcfeRtur, ﬁ%T‘ITUT arfierH

(3) oFiem, fawa, fasmdiem

(4) fToepdiertor, stfiem, foreaor

S 3TN % fofu Tafdrehd: Ui Sfai o
Yo & SR § YT o oA o (1T A H hiF-A1
TS IR 8 2

(1) 9 s gy uftvg (ICMR)

(2) ITHafR gfETe sEyH afifd (RCGM)
(3) aifes wa Shenfies sIgEY™ uftyg (CSIR)
(4) AR JAREIGER geard Afufd (GEAC)

TEUSER FHHE 3R WAl g et g @ 3wk
a1 for sgRfta % YeEEeEl % T B R
g AT 8 ?

(1) Ja-3gea
(2) J9-3{g=ed

(3) RIS (9 &)

(4) g3y

U faesft wrat grn ameaa f uw 987 fhe W+ U
(wehear) Toparm o o, wrarfy O fored wia A o wHy
g foemm € | = fhae orafaq 2 2

(1) Co-667

(2) < U

(3) & EER

(4) STEH

g1 Al I g :

(1) TESSIEA -
(2) du=. e -
(3) Fyx 3wl s —
(4) ft. Hew -

105.

106.

107.

108.

109.

110.

Which of the following is commonly used as a
vector for introducing a DNA fragment in human
lymphocytes ?

(1) Retrovirus
(2) X phage
(3) Tiplasmid
(4) pBR 322

The correct order of steps in Polymerase Chain
Reaction (PCR) is

(1) Extension, Denaturation, Annealing
(2) Denaturation, Extension, Annealing
(3) Annealing, Extension, Denaturation
(4) Denaturation, Annealing, Extension
In India, the organisation responsible for

assessing the safety of introducing genetically
modified organisms for public use is

(1) Indian Council of Medical Research (ICMR)

(2) Research Committee on Genetic
Manipulation (RCGM)

(3) Council for Scientific and Industrial
Research (CSIR)

(4) Genetic Engineering Appraisal Committee
(GEAC)

Use of bioresources by multinational companies
and organisations without authorisation from the
concerned country and its people is called

(1

Bio-infringement

(2) Biodegradation
(3) Biopiracy
(4) Bioexploitation

A ‘new’ variety of rice was patented by a foreign
company, though such varieties have been
present in India for a long time. This is related to

(1) Co-667

(2) Lerma Rojo

(3) Sharbati Sonora
(4) Basmati

Select the correct match :

(1) Ribozyme — Nucleic acid

(2) T.H.Morgan — Transduction
(3) Fgx Recessive parent — Dihybrid cross
(4) G. Mendel — Transformation
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111.

112.

113.

114.

115.

116.

a7 g 2

(1) e s wafaer § gt Sfas s

(2) dqUHH H 98 WE S Slg Bl T & fag
=1y

I8 Wifdeh T T8l U Siaurl Ed @
a1 2

frfafed 3 @ ®F- w s 9w 2 2
(1) CO

(2) SO0,

(3) CO,

(4) Oy

fova A feae e w @ ST @ 2

(1) 53

(2) 16 faarr

(3) 21 37

(4) 2237

FefAdt & o Srfiuma B 2

(1) FIL

(2) G i Bled ad AT i TE&AT
(3) SHI

(4) U @ H Afcedl & W el i G

TAAHSA H, WM % fashdiemn IR aTfuas
e i fogfr & faffaa & @ wF-a o
3NH % &9 U HE HLar @ ?

(1) EA

(2) Fe

(3) Cl

(4) TS

Frafafaa stieet & fra yor 1 wiitfeafasdh fifirs
e feRam ST 2

foeffore SuwieraT : 120 g
Trifires UM : 60 g

I IcUEH ;10 g

ST 1 3t e

T < Hien fifis

Fa1 1 fHifis

Sammn w1 Hiar fWifis

3
(4)

(D
(2)
3
(4)

111.

112,

113.

114.

115.

116.

Niche is
@}

all the biological factors in the organism’s
environment

(2)

the range of temperature that the organism
needs to live

3
(4)

the physical space where an organism lives

the functional role played by the organism
where it lives

Which of the following is a secondary pollutant ?
(1 CO

(2) SOgq

(3) COgq

(4) Og

World Ozone Day is celebrated on
(D)
(2)
(3)

4)

Natality refers to

(1) Death rate

(2) Number of individuals leaving the habitat
(3) Birth rate

(4) Number of individuals entering a habitat

5% June
16th September
215 April

2274 April

In stratosphere, which of the following elements
acts as a catalyst in degradation of ozone and
release of molecular oxygen ?

(1)
(2)
(3)
(4)
What type of ecological pyramid would be
obtained with the following data ?

Secondary consumer : 120 g

Carbon
Fe
Cl
Oxygen

Primary consumer : 60 g
Primary producer : 10 g
(D)
(2)
(3)
4)

Inverted pyramid of biomass
Upright pyramid of numbers
Pyramid of energy

Upright pyramid of biomass
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117. Ticsil afriy fred 9 oar 7 2 117. The Golgi complex participates in
(1) 951 3T & Iq=eH o (1) Fatty acid breakdown
(2) Sfemyet § aed |§ (2) Respiration in bacteria
(3) et ﬂﬁqm;ﬁ % M ﬁ (3) Formation of secretory vesicles
(4) T st & |fpa | (4)  Activation of amino acid
118. Ffafga & & H-A1 TH THW-HIATT HI T | 118. Which of the following is not a product of light
S7f¥fsRan &1 3ot 787 2 2 reaction of photosynthesis ?
(1) ATP (1) ATP
(2) NADPH (2) NADPH
(3) NADH (3) NADH
(4) Oxygen (4) Oxygen
119. Fefafed 5 & H-a1 W TET 7 ? 119. Which among the following is not a prokaryote ?
(1) @Faarsdis (1) Saccharomyces
(2) TrelH (2) Nostoc
(3) HFHERIRTH (3) Mycobacterium
(4)  STTfCIIRaT (4) Oscillatoria
120. i <hi nifesfierar foraa wanfaa 787 @t 2 120. Stomatal movement is not affected by
(1) duHE g (1) Temperature
(2) O, digar (2) O, concentration
(3) WM | (3) Light
(4) CO, FiZd & (4) COgy concentration
121. fg® & fou fafafea 4 @ sH-Em ot 2 2 121. Which of the following is true for nucleolus ?
(1) oo gt wifyremet 4 92 Sfes a8 | (1) Larger nucleoli are present in dividing cells.
(2) I8 ?I'g% T H AW AT 7 | (2) It takes part in spindle formation.
(3) g fufa & for @ @ | (3) It is a membrane-bound structure.
(4) ¥ USEEEA RNA Gweivo o fshamefier s (4) Tt is a site for active ribosomal RNA
7 synthesis.
122. IfET AU TURET I TR fohd T T 3y [ 122, The stage during which separation of the paired
A e homologous chromosomes begins is
(1) wems (1) Pachytene
(2)  ORTRIEE (2) Diakinesis
3) faug (3) Diplotene
(4) Fmug (4) Zygotene
123, TET F A sfrEERE i i A E 123. 'i‘il;ar?;(;e functional groups characteristic of
(1) TEgifead R wle
D S b
(3) 3R wfoa Y phosphate
@ I N f (3) carbonyl and methyl
) ' (4) carbonyl and hydroxyl
124. =8 ﬁ'q?ﬁ q Ty A E 2 124. Stomata in grass leaf are
(1) S9emhR (1) Dumb-bell shaped
(2)  SATIATHR (2) Rectangular
(3) TR (3) Kidney shaped
(4) QTR (4) Barrel shaped
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125.

126.

127.

128.

129.

130.

131.

f=fefigd @ @ 991 9ew w9y I TH I F Ty

TE frere Ty gunian 8, e i ot & fo
YT e =15k U1 g7 L TRl ?

(1) &l
(2) el

(3) FaHl
(4) T

T HUI HT Wgd W AW o [T ga ATsgeH | fopd
ATIH T JUSROT fehaT ST Hehell B 2

(1) -120°C

(2) -196°C

(3) —-80°C

(4) -160°C

argq e R 2

(1) TH WO FA F G R IR H A O ST H
WY T

T T IHhI T Teh 37 o A1 G

(3) U T Ik 1 &l YT hrgehl b T TATH
(4) W GerA N Hreer

foreH TeRTT-HYANl § STieSH 7g7 feherd! 2

(1) I dowt SeifE

(2) dEHd

(38) ArEl®

4) &7

fFreafafes & @ 9w o Sy § Thifa s
T & foru 3aeerft 2 2

(1) #fRrEm

(2) refEm

(3) wifeaw

(4) hfcsem

HIREHR Y96 § NAD* 31 ftent 91 @ ?

(1) 98 T T=3ATSH o ®9 § & Hdl g |

2) ;’gq‘aﬁ.ﬁ.ﬁ:@w%%ﬁ@@ﬁm@a
|

Tg Teh A dTEh b &9 H HE T 7 |

g'a' FIIEE YaET o fou af<m sode Ul
|

qTeql g I8 k1 Ay g @ @ fem w9 4
BT R ?

(1) i

2) H A

(3) ®E

(4) it 3R B g

(2)

3
(4)

125.

126.

127.

128.

129.

130.

131.

Which one of the following plants shows a very
close relationship with a species of moth, where
none of the two can complete its life cycle without
the other ?

(1) Hydrilla
(2) Banana
3)  Yucca
(4) Viola

Pollen grains can be stored for several years in
liquid nitrogen having a temperature of

(1) -120°C

(2) -196°C

(3) -80°C

(4) -160°C

Double fertilization is

(1) Fusion of two male gametes of a pollen tube
with two different eggs

(2) Fusion of two male gametes with one egg

(8) Fusion of one male gamete with two polar
nuclei

(4) Syngamy and triple fusion

Oxygen is not produced during photosynthesis by
(1
(2)

Green sulphur bacteria
Cycas
(8) Nostoc
(4) Chara

Which of the following elements is responsible for
maintaining turgor in cells ?

(1) Magnesium

(2) Potassium

(3) Sodium

(4) Calcium

What is the role of NAD' in cellular
respiration ?

(1) It functions as an enzyme.

(2) Itis anucleotide source for ATP synthesis.
(8) It functions as an electron carrier.

(4) Ttis the final electron acceptor for anaerobic

respiration.

In which of the following forms is iron absorbed
by plants ?

(1) Ferric

(2) Free element

(8) Ferrous

(4) Both ferric and ferrous
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132.

133.

134.

135.

guel WrTehvT fehem g 8 2

(1) =&

(2) ™

(3) TEhg

(4) 9E7g

frafafgas & @ forem Shrgopgerm e sregEfifaveH
% ggETq S sfEstia &9 § 3w B 8 2
(1) =eanT

(2) TIRHT

(3) 3SR

(4) @I

frafafad 8 @ wF-1 777 w9 ° gofea g 2
(1) UHHANGh JHb  —  GHorassiiar
(2) S g —  gRRET
(3) fopomfies wereiamy) — o e
(4) THDINTH S —  FaRAT

T I H & TE Hel o TR 11 R Hel 3 e hifse
R i feu U fomedi @ @ @gt fawew w1 wA

HIT -

&y [ &7y I1
a. UQUEE i A uTeut R gl &
TUE T Th TIH |
b.  Heft ii. UH A H s g ot o
1 fafergees UM #d T 3R
3T UgEH I g & faw
e 9 id §T T I |
c. TUTE il UM ¥ @l 9IeY Tl i
FEH 3R TR T T
Y <T@ AT 2 |
d. TR iv. U gieqe forem @eon At g
(Sherat) 3R 3 forehed g1 & S
fafir afent <t vg=m & &
HERIH Bl & |
a b c d
(1 i iv i i
(2 i iv i i
(3 i i i v
(4 i v i i

132.

133.

134.

135.

Winged pollen grains are present in

(1) Mustard
(2) Mango
(3) Cycas
(4) Pinus

After karyogamy followed by meiosis, spores are
produced exogenously in

(1) Neurospora

(2) Agaricus

(3) Alternaria

(4)  Saccharomyces

Which one is wrongly matched ?

(1) Uniflagellate gametes — Polysiphonia
(2) Gemma cups —  Marchantia
(3) Biflagellate zoospores — Brown algae
(4)  Unicellular organism - Chlorella

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I

It is a place having a

Column I

a. Herbarium i.
collection of preserved
plants and animals.

A list that enumerates
methodically all the
species found in an area
with brief description
aiding identification.

c. Museum iii. Is a place where dried and
pressed plant specimens
mounted on sheets are
kept.

d. Catalogue iv. A booklet containing a list
of characters and their
alternates which are
helpful in identification of

various taxa.

a b c d
1 i iv 1ii ii
(2) i iv iii i
(3) iii ii i iv
(4) iii iv i ii
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3?
(1)
(2)
(3)
(4)

MEEE]
TSI
TFSTSHA
ufezatia

TeTd &9 9 Ifd g 2
(1

(2) TENSTHT

(8) fafas a3

(4)

22
1)
(2)
(3)
4)

frpT 7 ?
1)
2)
(3)
(4)

Hge AN

136. fmfafiga o @ wH-a1 gHH Wi st & =gead g

137. F=fafiea 4 4 - dead sen &5 35 s @

& et e |

. Tom=m g o1 3cuTed W

qOHME, @ T =
o T |

: g3 % &F I AiETsh h

fofirer & <l oToE o Sired
&, T w1 FreEor e

: 9T¢ TF ¢ ymiEdash et

i ST aTed agadi i agl |

138. A9 A7 ¥ yresf <@ fordes R 3 TM W &l

TN % ¥ IS T g
arsfE & & fekft Ufemt g
amsfE | I TR g/

vEmy % 9 i faet 9 g

139. ffafigd @ @ fpm g 6 sfegiea 3 7=
UeSIeelH Td WA
THISH Td eSS g

BIECAE R RIS
TUATEUES BIAM T HiifEed

136.

137.

138.

139.

Which of the following is an amino acid derived

hormone ?

(1) Epinephrine
(2) Estradiol

(3) Ecdysone
(4) Estriol

Which of the following structures or regions is
incorrectly paired with its function ?

(1) Medulla oblongata : controls respiration
and cardiovascular

reflexes.

(2) Hypothalamus production of
releasing hormones
and regulation of
temperature,

hunger and thirst.

consists of fibre
tracts that
interconnect
different regions of
brain; controls
movement.

6))

Limbic system

band of fibers
connecting left and
right cerebral
hemispheres.

4)

Corpus callosum

The transparent lens in the human eye is held in
its place by

(1) ligaments attached to the ciliary body

(2) smooth muscles attached to the iris

(3) ligaments attached to the iris

(4) smooth muscles attached to the ciliary body

Which of the following hormones can play a
significant role in osteoporosis ?

(1) Aldosterone and Prolactin

(2) Estrogen and Parathyroid hormone
(3) Progesterone and Aldosterone

(4) Parathyroid hormone and Prolactin
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140.

141.

142.

143.

144.

145.

Frafafaa sroewt fasm & IgEwn o 9 77 faeed
T =TI HINT :

(1) HHd, TS T =idl o 3WUTE

(2) <HEE, AT Td <idl 1 AieTsh

(3) TWES, HME Td =idl ol &

(4) SATFRITH, THCS Td HH 6l 311G

Frefefaa § @ sia-an waufoeen U 787 8 2
(1) @i

(2) USASTSHL TA

(3) ®uJ wfersmy

(4) fafeform

Freafafga siftraentt 8 @ SR-8 977 § Sfw ot &t
ST’ Sl gd 8 2
TTferar
RERERIEGI
BRI
31qul goqTferat
CESIEIENIUIT
b, cTd e
b,dTd e

(3) abTWec

(4) a,c@ie

frm T ¥ mest g TG T o SRRUT GTEiRI
anfgfaat o ferepreft sy Scaet Bar 2 2

(1) uferbfeufam

(2) Torad T

(3) U™

(4) smffafag

Ik HUGh b FUUE hl I AT T THEAT
TopErehT 3aTE @ ?

(1) 9GHASITdar

2) fEr fowm

(3) qeIwydan

(4) 1o fafro

T % @ F OFART F IR TSGR &
foperht gfg & hror gt B 2

(1) feaf@ D

(2) faafm By,

(3) faarftm A

(4) faaftm E

°© po TP

(D
(2)

140.

141.

142.

143.

144.

145.

Among the following sets of examples for
divergent evolution, select the incorrect option :

(1)

Forelimbs of man, bat and cheetah

(2) Brain of bat, man and cheetah
(3) Heart of bat, man and cheetah
(4) Eye of octopus, bat and man

Which of the following is not an autoimmune
disease ?

(1) Psoriasis

(2) Alzheimer’s disease
(3) Rheumatoid arthritis
(4) Vitiligo

Which of the following characteristics represent
‘Inheritance of blood groups’ in humans ?

a. Dominance

b Co-dominance

c Multiple allele

d. Incomplete dominance
e.  Polygenic inheritance
(1
(2)
3)
4)
In which disease does mosquito transmitted

pathogen cause chronic inflammation of
lymphatic vessels ?

(1)
(2)
3)
(4)
The similarity of bone structure in the forelimbs
of many vertebrates is an example of

(1)
(2)
3)
(4)
Conversion of milk to curd improves
nutritional value by increasing the amount of
(1) Vitamin D

(2) Vitamin By,

(3) Vitamin A

(4) Vitamin E

b,cand e
b,d and e
a,bandc

a,cande

Elephantiasis
Ringworm disease
Ascariasis
Amoebiasis

Homology
Convergent evolution
Analogy

Adaptive radiation

its
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146.

147.

148.

149.

150.

frefefiga o @ fafepcan fasie § wfdsfass & 3cure
g wmfse i S TREAie Bhar sgan SEm
Tt B ?

(1)  @@wIisHar
(2) Stiferar
(3) ERIIERINT
(4) wHATTSH

fafafad § 9 H9-a1 ‘SreraE e’ § 7787 3 ?

(1) T=-Sfa T%R dTeh
(2) dHEaldh 3TN
(3) Yfe 3qaq

(4) & =

T I H & TS Al o &R 11 bl wel 3 e hifs
3 i feu U fosedi & @ @g fawew =1 w9

HIRTT -

&y [ &y 11
a.  gUmN i. UV-B fafero
b. &fed <efha i, S
c. Temrad (VN sEeE) il W9 dgig
d. 3@ & iv. smufirse faem
a b c d
(1) i i iii iv
(2) i iv i ii
(3) i iii iv ii
4) i ii iv iii
T <1 I Fedl g3 SEe §
(1) Y e Sem safseat o 31fees 2id 2 |
(2) gﬂ?&m Td Y Sfe e W OSUe '
|
(3) W SAfSe IR SAfsedl | %0 8 3 |
(4) Y A Fem SAfSAT ¥ W Bd & |

“ien” ek I I WY o foRE 9T ¥ wTed BT R 2

(1) F@i g
(2) S d
(3) e
(4) Ut @

146.

147.

148.

149.

150.

Which one of the following population
interactions is widely used in medical science for
the production of antibiotics ?

(1) Commensalism

(2) Parasitism

(3) Mutualism

(4) Amensalism

All of the following are included in ‘Ex-situ

conservation’ except

(1) Wildlife safari parks
(2) Botanical gardens
(3) Sacred groves

(4) Seed banks

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column I
a. Eutrophication i. UV-Bradiation
b.  Sanitary landfill ii. Deforestation
c. Snow blindness iii. Nutrient
enrichment

d. Jhum cultivation iv. Waste disposal

a b c d
1 i i iii iv
(2) il iv i ii
3 i iii iv ii
4 i ii iv iii

In a growing population of a country,

(1) pre-reproductive individuals are more than
the reproductive individuals.

(2) reproductive and pre-reproductive
individuals are equal in number.

(3) reproductive individuals are less than the
post-reproductive individuals.

(4) pre-reproductive individuals are less than

the reproductive individuals.

Which part of poppy plant is used to obtain the
drug “Smack” ?

(1) Flowers
(2) Roots
(3) Latex
(4) Leaves
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151. gu¥ar sl 99T WA % e MU -8 g\E wifad

w7 2

(1) hCG, hPL, YSiEieH, Tetfaed

(2) hCG, hPL, 9IST&ISH, TEISH

(3) hCG, hPL, t&eieH, ffeam, srifeaertam

(4) hCG, ISEISH, TN, ‘('LdolchTré*Tss

152. THFRIE® FEer

(1) TR | TEISH AR &l 796G Hdl & T IS
% YT <1 Ushell 7 |

(2) THIUDR |

(3) WERAl W WM $I Higal %l dgl 8 Ud
TSI I Tehd! 7 |

(4) TH TE-AYT THARIEH 7 |

153. TR YO i YuETel gt Iod fohuE Sl § ?

(D
(2)
(3)
(4)

FTRIAT T AR
AEISER T J¥ehTeh

JTTECET T HEISRR

EIRCEIRC RN EEE el

154. I[HIVSHA T RV (TAfueM) | 1 STl 7 2

(D

(2)

3

(4)

IS YR, S €, Srelfeh Yoo |
1] S & |

YGRS H IR T Herel IR o
o Aferist A R § WA A R,
ek YhE H Yh1Y] S § |

LS H ORI TG E, e LR A
RIS S & |

YhUSFA H YR S E, Sl R A
YEIUST 1 HICt  HIRTRIST & IehoHs
Aferehtat <t Tfgeht § W BT B |

151. Hormones secreted by the placenta to maintain

152.

153.

154.

pregnancy are

(D
(2)
3
(4)

hCG, hPL, progestogens, prolactin
hCG, hPL, progestogens, estrogens
hCG, hPL, estrogens, relaxin, oxytocin

hCG, progestogens, estrogens,
glucocorticoids

The contraceptive ‘SAHELT

(1)

(2)
6))

(4)

blocks estrogen receptors in the uterus,
preventing eggs from getting implanted.

is an IUD.

increases the concentration of estrogen and

prevents ovulation in females.

is a post-coital contraceptive.

The amnion of mammalian embryo is derived

from

(D
(2)
6))
4)

The difference between spermiogenesis

ectoderm and mesoderm
mesoderm and trophoblast
endoderm and mesoderm

ectoderm and endoderm

and

spermiation is

(1

(2)

3

(4)

In spermiogenesis spermatids are formed,

while in spermiation spermatozoa are

formed.

In spermiogenesis spermatozoa from sertoli

cells are released into the cavity of
seminiferous tubules, while in spermiation

spermatozoa are formed.

In spermiogenesis spermatozoa are formed,

while in spermiation spermatids are

formed.

In spermiogenesis spermatozoa are formed,

while in spermiation spermatozoa are
released from sertoli cells into the cavity of

seminiferous tubules.
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155. f=fafiaa § @ sia-an foemed swaw: gar i amaehifa
T el <hl 2 i I T9 & gIlaT B 2
(1) a4 M, Tl gdg | HH
(2) YIB! T8 | ITferehdr; yadien § Wy
(3) YaHMHT H T H Ifekar; oAl g d
D]
(4) Ol Tag § Hl; yadte § MY

156. T I | & TS Hel 1 e 11 <1 #el 9 firae hifsg

s =9 feu U foswmedi & @ @E Oy w1 ==
ENEIE

LT 1 T 11
a. oo suae i, < 3rfere W W e
& o=
b. fgaert wure ii. e e e g
gt & o=
c. AT HURH  iii.  erfed sfere W arfe
fem & =
a b c
(1) 11 i 11
2 i i1 11l
3) 1 i1 11
4) 1 i i1

157. T 1 ° <1 T8 Hel 1 vy I <A1 7el ¥ fyem hifse

IR fra feu MU fomewi 0§ @E? famew &1 WA
HifS :

TFy [
a. SAR A™AH i.
b. oAvEEd giEa i

ey I1
2500 — 3000 7.t
1100 — 1200 fi. <.

3T

c. TvaEs gfea iii. 500 — 550 fir.&fh.
3T

d. fafe T iv. 1000 — 1100 ..
a b c d

(1) i i i iv

2) i iv ii iii

(3) i i iv i

(4) iv i ii i

155.

156.

157.

Which of the following options correctly
represents the lung conditions in asthma and
emphysema, respectively ?

(1) Inflammation of bronchioles; Decreased
respiratory surface

(2) Increased respiratory  surface;
Inflammation of bronchioles

(3) Increased number of bronchioles; Increased
respiratory surface

(4) Decreased respiratory  surface;

Inflammation of bronchioles

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column II

Between left atrium
and left ventricle

Column I

a. Tricuspid valve 1.

b.  Bicuspid valve ii. Between right
ventricle and

pulmonary artery

c.  Semilunar valve iii. Between right
atrium and right
ventricle

a b c

(1) il i ii

2 1 ii iii

3 i iii ii

4) i i iii

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I1
2500 — 3000 mL
1100 — 1200 mL

Column I
a. Tidal volume 1.

Inspiratory Reserve  ii.
volume
c. Expiratory Reserve iii. 500 — 550 mL

volume

d. Residual volume iv. 1000 — 1100 mL

a b c d
(1) it ii i iv
2) i iv ii iii
(3) it i iv ii
4) iv iii ii i
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158. T I # <t T8 Hel 1 TavY I <hl 7el ¥ fyema Hifse

IR f= few MU fowmedi & @ @E? fasey w1 T
Hifsa :

ey 1

a. ’E’Bﬂﬁ'ﬂﬁm 1.

Ty I1
Sret o ik T H
HUE B

b. TmRE ii. g H fopeefera oemn %
fiug
c. gFhE g iii. =BT B Tgrgehdl

iv. T3 H o[HE HT BT

a b c d
(1) i ii iv i
(2) i iii i iv
3 i ii iii iv
4) iv i ii iii

159. T I H <1 T8 Hel 1 vy I <h1 7el ¥ fyem hifse

3t fiw few U fahedt @ ¥ &gt foaew &1 WA
HifSr -

TTFy [
(F7)

a. offoged Fered i
b. T 1 HGW ii.

Ty 11
(3cGS7 T BT HI7T)

T T
TaTteft

c. TIAH AWHEA il TR
d. TF H EHEU iv. Herdift shfvreht
v. EHuEY gafaa Afete
a b c d
1 v v i iii
2 v iv i i1
(3) iv i ii iii
4) v iv i iii

158.

159.

Match the items given in Column I with those in

Column II and select the correct option given

below :
Column I Column I
a.  Glycosuria i. Accumulation of uric
acid in joints
b. Gout ii. Mass of crystallised
salts within the kidney
c. Renalcalculi iii. Inflammation in
glomeruli
d. Glomerular iv. Presence of glucose in
nephritis urine
a b c d
(1) i ii iv i
(2) i iii i iv
3 i ii iii iv
4) iv i ii iii

Match the items given in Column I with those in
Column IT and select the correct option given

below :
Column I Column II
(Function) (Part of Excretory
System,)
a.  Ultrafiltration i. Henle’s loop
b.  Concentration ii. Ureter
of urine
c.  Transport of iii. Urinary bladder
urine
d. Storage of urine iv. Malpighian
corpuscle
v. Proximal
convoluted tubule
a b c d
1 iv v ii iii
2 v iv i ii
3) iv i ii iii

4) v iv i iii

CHLAA/EE/Page 37

TF T o T8 UM / SPACE FOR ROUGH WORK i
collegedunia:



160.

161.

162.

163.

164.

165.

6 Uerdnsae epam (RER) o Tfafea o @
HH-H T 737 Bt ?

(1) 9 1 g

(2) Tehd UwTsE &1 foagem

(3) T I TATSRIHAIA

(4) HITHIANS TS

Y § DH-HT AT TeTd & ?

(1) TCA =3k % THASH GAHOTRN o gl # feua
B2 |
TATSHITATGT qd qh &IdT & 9Iel deh 39 BIZgIeH
AT ST I3M o fote NAD fireran t&am 2 |
TATSShITATTE hIfSTehlfactd H 9= Bidl & |
Tl HICHINART Ghiiehr T ST
ot § aRa g 2

froer % five geua: fres o 8 € 2

(1) 9N w fafrs

(2) ¥t 3 td SER

(3) DNATE RNA

(4) H¥d TsEE™ td RER

Frafafega & @ -8 qinfys s 9me gt
1 aftfa @+ g 2

(1) e, fgamadt, gt

(2) UREE, ThaREd!, FHEd!

(8) e, fgamad, fommadt

(4) e, fgemed, fawmed

Terd e &1 === Hifee

(1) ogw e - fgug % gl
(2) IUHEIhRY R — L-3ThRI TR
(3) vAEm — o Torg

(4) ¥EUEE T — UEHfOEEl % IiE®

g0 ¥ UEEM T mRNA ¥ T g St THae
iferieerse h FE SfdAl Sd @ | TgSEE AU
@IS ! FAT FHad & ?

1) =g

(2) vfeeem

(3) g«
(4) hige

(2)

3
4)

160.

161.

162.

163.

164.

165.

Which of the following events does not occur in
rough endoplasmic reticulum ?

(1)
(2)
3
(4)

Protein folding
Cleavage of signal peptide
Protein glycosylation

Phospholipid synthesis

Which of these statements is incorrect ?

(D

Enzymes of TCA cycle are present in
mitochondrial matrix.

(2)

Glycolysis operates as long as it is supplied
with NAD that can pick up hydrogen atoms.

3
(4)

Glycolysis occurs in cytosol.

Oxidative phosphorylation takes place in
outer mitochondrial membrane.

Nissl bodies are mainly composed of

(1
(2)
3)
4)

Proteins and lipids

Nucleic acids and SER

DNA and RNA

Free ribosomes and RER

Which of the following terms describe human
dentition ?

(1) Thecodont, Diphyodont, Homodont

(2) Pleurodont, Monophyodont, Homodont

(3) Thecodont, Diphyodont, Heterodont

(4) Pleurodont, Diphyodont, Heterodont

Select the incorrect match :

(1) Lampbrush — Diplotene bivalents
chromosomes

(2) Submetacentric — L-shaped chromososmes
chromosomes

(3) Allosomes — Sex chromosomes

(4) Polytene — Oocytes of amphibians
Chromosomes

Many ribosomes may associate with a single
mRNA to form multiple copies of a polypeptide
simultaneously. Such strings of ribosomes are
termed as

(D
(2)
3
4)

Polysome
Plastidome
Polyhedral bodies

Nucleosome
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166.

167.

168.

169.

170.

M & i & sgEr fowm i frfafy e wer
Bt 8 2

(D
(2)
3)
4)

FEA e

<ifireh g9 TET giade (erored) fafererar)
A

Y e

ey 18 &) 78 Hel o Sy 11 h 9e 8 firem Fifvg
IR o feu U fawmewi ¥ @E?t famew &1 WA

it
&ey [ ey I1
a.  SYUGHIA UEEAT i, TR 7% 1 foered
b. @l gEE ii. geehr STewn
c. Fkgad iii. drafivg graEen
a b c
(1) i ii i
(2) ii iii i
3) i iii ii
(4) iii i ii

TTH T hIH-HT ST T 9T 737 8 2

(D
(2)
(3
(4)

FEIGED
TR
LA S
EEIDED

T 9 % HIET T F1 FF AGGTATCGCAT # |

3% g IFIRad mRNA T Helferd shH 1 BT ?

(D
(2)
3
(4)

T it o Tk X UG § X-HerH a1 7 | T8 O

AGGUAUCGCAU
ACCUAUGCGAU
UGGTUTCGCAT
UCCAUAGCGUA

forerdl T B 2

(D
(2)
3)
(4)

ot gt §
et Wit /AT
et g
REIRCIERIRCEIR

166.

167.

168.

169.

170.

According to Hugo de Vries, the mechanism of
evolution is

(D
(2)
3
(4)

Multiple step mutations
Phenotypic variations
Saltation

Minor mutations

Match the items given in Column I with those in
Column II and select the correct option given
below :

a.

(D
(2)
3
(4)

Column I Column II

Proliferative Phase 1. Breakdown of

endometrial
lining

Secretory Phase ii. Follicular Phase

Menstruation iii. Luteal Phase

a b c

iii i i

i 1ii i

i 1ii i

iii i i

All of the following are part of an operon except

(1
(2)
3
4)

an operator
an enhancer
structural genes

a promoter

AGGTATCGCAT is a sequence from the coding
strand of a gene. What will be the corresponding
sequence of the transcribed mRNA ?

(D
(2)
3
(4)

AGGUAUCGCAU
ACCUAUGCGAU
UGGTUTCGCAT

UCCAUAGCGUA

A woman has an X-linked condition on one of her

X

chromosomes.

This chromosome can be

inherited by

(D)
(2)
3
4)

Only daughters
Only grandchildren
Only sons

Both sons and daughters
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171.

172,

173.

174.

frafafaa @ @ s J6t Hifvend sy ' 3
T3 § Wgg hidl & ?

(1) T Hifdepnd

(2) R (TTeTIE) IR

(3) ToISHT SHITTHY

(4) fixfi Sifsrenrd

ey 18 &) 78 9e o ward 11 1 9e & fiam hifse
IR = few MU fowmewt @ @ @E? famew w1 =

HIT

&y I &y I1

a.  WIEfSANE i qUEelt @qe

b. TAGRH ii. T o

c. UeeE iii. i fparfafy
a b c

(1) i ii i

2 i iii ii

3) i ii i

4) ii i i

F=fefiga § & saemtie vae foer &1 Ierer =
2?
1
(2)

wfem
sigfes
(3) Tufaewmaar
(4) aTaEhIfa

hepTel Ut T W ke wewequl 8 Fifh I8

(1) QI & deeht e & |lsha T & e
%I BT <A1 & HENEE o foru |

UfeFe g o AR S T ST AT R |
AR TS & st 39 fspamsfiar tar 2 |

IRNfEE ig A o Uded dq & wed ey
famfor =67 Trehet 2

(2)
3
(4)

171.

172.

173.

174.

Which of the following gastric cells indirectly

help in erythropoiesis ?

(1) Chief cells
(2) Goblet cells
(3) Mucous cells
(4) Parietal cells

Match the items given in Column I with those in

Column II and select the correct option given

below :
Column I Column I1

a. Fibrinogen 1. Osmotic balance

b.  Globulin ii.  Blood clotting

c.  Albumin iii. Defence mechanism
a b c

(1) il ii i

(2) i iii ii

3) i ii iii

4) i iii i

Which of the following is an occupational

respiratory disorder ?

(1) Anthracis

(2) Botulism

(3) Silicosis

(4) Emphysema

Calcium 1is important in skeletal muscle

contraction because it

(1) binds to troponin to remove the masking of
active sites on actin for myosin.

(2) detaches the myosin head from the actin
filament.

(3) activates the myosin ATPase by binding to
it.

(4) prevents the formation of bonds between

the myosin cross bridges and the actin
filament.
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175.

176.

171.

178.

179.

180.

HUGhH! U b I Sl hl UgaH hINT S T
9T 7 § 39 Ue e grn sifated 2 |

(1) UfeRfern

(2) ww

(3) difern

(4) Arfecaefis

fafaues s wefit diersert @ form yew fim € 2
(1) I T o foru Hemfirest 1 T Hd &

(2) ¥ TR = Thed & foTT qreT w1 T d 8
(3) T Afftad a1 Febre @ fore dgpasfia
gt Bt B

ST QI YR % 5 Bl &

Fafafgd 7 @ -8 @9 | St 6l Tga = ATel
ikl ¥ Hd & ?

(1) & I @ W Ahl & AR kI Uy Hi
3uferfa

TE YR ATese g 31 9

(3) U=O I i IufEdfd

(4) TeeH 6 Iufeafd

frfafea & @ iA-a1 g awardt 787 ? 2

(1) 7w

(2) IFTF

(3) @

(4) Fcgpar

frferfiga Srgett # @ SH-8 g FETRT 777 Fd ?
(1) hgeT

(2) =Yg

(3) Hfhe
(4) TR

Frafafed & @ #-8 Sta gg@rRl § §&T 3caEs 5
w9 H M A8 ?

(1) SEHAYRSH

(2) HEASFATE

(3) sSreH

(4) IiHTEEE

4)

(2)

175.

176.

177.

178.

179.

180.

Identify the vertebrate group of animals
characterized by crop and gizzard in its digestive
system.

(1) Amphibia
(2) Aves

3)
4)

Reptilia
Osteichthyes

Ciliates differ from all other protozoans in
(1
(2)
(3)

using flagella for locomotion
using pseudopodia for capturing prey

having a contractile vacuole for removing
excess water

4)

having two types of nuclei

Which of the following features is used to identify
a male cockroach from a female cockroach ?

(D

Presence of a boat shaped sternum on the

9% abdominal segment

(2) Forewings with darker tegmina

(3) Presence of caudal styles

(4) Presence of anal cerci

Which one of these animals is not a
homeotherm ?

(1) Macropus

(2) Camelus

(38) Chelone

(4) Psittacula

Which of the following animals does not undergo
metamorphosis ?

(1) Earthworm

(2) Moth

(8) Tunicate

(4) Starfish

Which of the following organisms are known as
chief producers in the oceans ?

(1) Dinoflagellates

(2) Cyanobacteria

(3) Diatoms

(4) Euglenoids

CHLAA/EE/Page 41

TF T o T8 UM / SPACE FOR ROUGH WORK i
collegedunia:



T &Td & ToTT wq=
SPACE FOR ROUGH WORK

CHLAA/EE/Page 42 g
collegedunias



T &Td & ToTT wa=
SPACE FOR ROUGH WORK

CHLAA/EE/Page 43 g
collegedunias



Awferaa 13351 &7 @ g -

1. I8 IH W e wheneff, fleres @i o1
SENRERECl

9. efer o1 Frltees i foom erqufa & fomm
T gieqrelf 39T T 9 BiS |

3. HRENG e 1 3o IR 97 fou fomn @@
Jufeufa. o W gam gEarer fope fomm i
wienedl wlen @ & wen | At Tt
Tigeff 7 gEd 9R SuieafauEme W
TEAER T Tohy A1 9 W e R S
3T U A& AT § SR Ig Araa aned
T WTHSAT HIFT TG |

e o o [N«
4. SAFCIHh/[ETHTAd TlLeheTeh bl IUINT JIS(d

2 |

5. JOTE | =R o foru ghemeff udem <
fmi e fafEm g FEhia § 1 sHa
e o afi el w1 %Een 3| wie &
fremi wa fafemi o orgam g |

6. Torelt off g o wem gieaeht TR S W
T g W AT 7 . |

7. 9 gieashrER U # feu mu ulen gicae
Tohd i wdierefi wEt ok & Sufedfaoses o
forg |

Read carefully the following instructions :

1. Each candidate must show on demand his/her

. No candidate, without special permission of

. The candidates should not leave the

. Use of Electronic/Manual Calculator is

. The candidates are governed by all Rules and

. No part of the Test Booklet and Answer Sheet

. The candidates will write the Correct Test

Admit Card to the Invigilator.

the Superintendent or Invigilator, would
leave his/her seat.

Examination Hall without handing over their
Answer Sheet to the Invigilator on duty and
sign the Attendance Sheet twice. Cases
where a candidate has not signed the
Attendance Sheet second time will be
deemed not to have handed over the
Answer Sheet and dealt with as an
unfair means case.

prohibited.

Regulations of the examination with regard to
their conduct in the Examination Hall. All
cases of unfair means will be dealt with as
per Rules and Regulations of this
examination.

shall be detached under any circumstances.

Booklet Code as given in the Test
Booklet/Answer Sheet in the Attendance
Sheet.
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